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227722 PR SRR 12 Y85 — Here — when the Xn>3 states that
a 7271 is a 1"77 - we speak of the time when the Jews dwelt in
the dessert.

Overview

An explanation is required as to why the ¥n»92 teaches us that a 7127 is a
2"77, referring to the times when %72 °12 were camped in the 1277, since it
seems irrelevant to us now.

nxp yawn — There is a partial indication from this statement; that there is a
difference between the time when the Jews were in the dessert — then it was a °"717, and
nowadays — that the dessert is a not a 1"771. This indicates -

2°2977 N1 79RT — that a domain is not considered a 2"
R127 2w aw PR 30 a8 KR — unless six hundred thousand people
frequent it

227%3 1> — just as it was in the dessert." Otherwise why would the X072 want
to add that a 7271 is a 7", only to have it interpreted 1272 PW X 912, which
seemingly has no relevance to us? Therefore mMd01n concludes that the X072 according to
the X n3 teaches us that in all cases, in order for a domain to be a proper 71"77 it has to be
frequented by six hundred thousand people.2

Summary
A 7"77 requires that it be traversed by 600,000 people (daily).

Thinking it over
1. Why does mpoin state that it is (only) a partial indication [according to
footnote # 1 it should be no indication at all]*?

2. Would the 600,000 include women and children? $>727% 073?

" The reason why it is only a partial indication because we can say that the Xn»92 teaches us that the 2271
was a Qv W PR 112 9"737 to let us know that a 2";71 must be sixteen NIk wide and be without a roof,
the way it was when 982" 12 were in the 1272, See 2717 W5,

% See X 7PYo W "0 1"AnTR v where he references this 19010 and concludes: 37347 YWHN1 07727 BN
AW X7 991 (191 NYT 9W) 1D970°W 1 DY 07 WO DT MINAY PRI TN 3" 1wV 17 PRY 91 DR 198 mrTna
"0y MXYY v

? See nnx now.



